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Instructions to the Candidates

1. This Question-booklet is printed in English & Hindi languages. Candidates should select any
one of the two versions according to their convenience.

2. The question paper contains 100 questions. The examinee should verify that the requisite number
of questions are printed in the question paper, otherwise he should ask for another question
paper.

3. All questions are compulsory.

4. All questions carry equal marks.

5. The cover page indicates the number of pages in the question paper. The examinee should
verify that the requisite number of pages are attached in the question paper, otherwise he should
ask for another question paper.

6. Read carefully the instructions given on the answer sheet supplied and indicate your answers
accordingly.

7. Kindly make necessary entries on the answer sheet only at the places indicated and nowhere
else.

8. Examinees should do all rough work on the space meant for rough work on the pages given at
the end of the question paper and nowhere else, not even on the answer sheet.

9. Ifthere is any sort of mistake either of printing or of factual nature in any question, then out of

the Hindi and English versions of the question, the English version will be treated as standard.
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1. Find out the missing square of the
given figure.

(A) (B)
(®)) (D)

2. A cuboid having six faces is made of
different colour for each face. The blue
face is adjacent to white. The red face
is opposite to black but adjacent to
yellow. The brown face is adjacent to
blue. The red face is placed down.
Which one of the following faces
would be the opposite to yellow ?

(A) Blue
(B) White
(C) Red

(D) Black

3. In a tournament of 14 teams playing,
if each team played against every
other team only once at league stage,
followed by two semi-finals between
the top four teams after league stage
and finally one match between the
winners of the semi-finals, then how
many total matches are played ?

(A) 108
(B) 94
(C) 81
(D) 78

4. Find the correct alternative which
will replace the question mark shown
in the following series :

1,5,13, 29,61, 125, _?
(A) 186
(B) 232
(C) 250
(D) 253
SET-A

Identify the number to replace the
question mark.

19 9 17

23 12 25

13 ? 31

(A) 4
(B) 11
(C) 15
(D) 18

Identify the number to replace the
question mark.

o ]
b2 = =
B | et | ik | ) f—

5] (3
2] B3] 12
(A) 4
(B) 6
(€ 7
(D) 9

-

Which one of the following can come
next ?

N _ =2
(A) O (B) é
(©) —‘ (D) 1

Which alphabet in séquence replaces
the question mark ?

MNZA, LPYC, KRXE, JTWG, ?
(A) TUUI

(B) IVVI

(C) HVVH

(D) HUUH
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9. uH fHA F T 157 w o ¥ -
‘parents love kids', 619 ¥ 3¢ ¥ —
‘Jove birds nice’ 3 952 & % ¥ -
‘parents like birds' | T T W H
‘nice’ F THI T E ?

(A) 1
(B) 6
(C) 9
(D) I3 T
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o] 0 ®
(o] L L) Q|0 C
O ole 90 o
® o] o]
o] @0 O|® O
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® [ ] ® Q
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11. = e faxr d sraafua ot dfed ot
fee e & 2
(A) 13
(B) 14
©) 17
(D) 18
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(A) 1

(B) 8

(C) 5
(D) 7
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o v Hyea ey € @ e %
FER T qCE & AL & A 9% T
g =T ©

POWER : TGYQR :: TRAIN : ?

(A) VCTKP

(B) VTCKP

(C) PCKTV

(D) PKCTV

A g F s § @ A
U YER # & AR e = & ) fauw
FR P E?

(A) AA

(B) BB

(C) BD

(D) DP

frfafaa Soit 8, Fae us 3iw TE T
¥ TR AE R e

2,3, 8. 62, 3968

(A) 2

(B) 8

(C) 62

(D) 3968
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9. In acertain code language 157 means 12. Find the odd one out among the
‘parents love kids’, 619 means ‘love following :
birds nice’ and 952 means ‘parents
like birds’. Then what does the word (A) : (B)
‘nice’ stand for in the same -
language ?
(©) (D)
(A) 1
(B) 6
C) 9 13. In a class of 52 students, Abhay’s
© rank is in the bottom quarter of the
(D) None class. Chandra’s rank is equal to the
square root of that of Abhay's.
Chadra’s rank is equal to :
10. Find out the missing tile. (A) 1
® oJo elo o (B) 8
ooooooo.o © 3
o ofle efc o (D) 7
® (o] o}
C _eio ole O 14. Observe the pair to the left of ::,
@ 0|0 O which has certain relationship. Using
o * the same relationship, what should be
©c_ojo o© the missing on the right side ?
° o e POWER : TGYQR :: TRAIN : ?
(A) ]| © B)| © (A) VCTKP
¢ o e ©° (B) VTCKP
o o | o © (C) PCKTV
( o CTV
e o ® © (D) PK
_ . 15. In the list of four alphabets pair, three
11. How many squares (including belongs to a type and one does not.
interpenetrating ones) are there in the Which is the odd one ?
following figure ? (A) AA
(B) BB
(C) BD
(D) DP
16. In the following series, only one
number is not correct. Which is the
wrong number ?
(A) 13 2 3 8 62 3968
(B) 14 (A) 2
) 17 (23 22
<)
(D) 18 (D) 3968
SET-A P/A/TI/2015
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A E
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(C) 3H (D) FaaT

18. 37T WEH & Ugeq f2 &
f (B) WHaR

(A) AR
(D) FrEidar

(C) FuErT
fdwr . (e 9. 19 7 20) ; i gE W@
T WAl % IO 310
T&F MR (2W, x 2 Al 4% qawl 39 THFH
@ T & T @1 e ar a1 see-afer styan
yd.ufvem fen & s £1A, B, C. D, E, F, G
3T H 1fa =afe 0 sgawen § 39 U a4 §
for wafer o &t & & AT s @t g F
7 fag @ foom € | w9 &M tEgE & -
T AE |
A 3 D @1 F1 F01 TE W YA A B T
RE
AFTHOIH | IR B W RC AR |
CAsm e fem A Fdar e |
FAUFEn 3o § B 21 € 3 B. G 3 D
FATTATE |
GARHUHETW A N2 H S @ wag ¥ |
19. BE2A N WHEA T8 2

(A) F (B) A
(C) H (D) E

20, E¥shm @R g smaare?

(A) F (B) B
) A (D) G
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wEE
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FHEE |
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Directions (Q. Nos. 17 & 18) : Study the
following information carefully and answer
the questions given below :
In a particular month of a year, it is
observed that there are five Tuesdays and
all other days appear less than five times.
17. This particular month referred is

(A) February (B) April

(C) June (D) November

18. The first day of the next month is
(A) Saturday (B) Monday
(C) Wednesday (D) Thursday

Directions (Q. Nos. 19 & 20) : Study the
following information carefully and answer
the questions given below :

A square (of size 2 metre by 2 metre)
seating arrangement is made such that the
edges of the square are running in either
North-South or East-West directions. A, B,
C, D, E, F, G and H are persons seating in
this arrangement, such that a person is
sitting at either a corner of the square or at
a midpoint of the edges of the square. All
persons are facing each other.

A and D are sitting at diagonally opposite
corners of the square.

C is sitting south of A at a distance of 1 m.
F is sitting north-west of C.

B is sitting exactly south of F and also is
sitting between G and D.

G and H are sitting at a distance of Z\ﬁ m
between them.

19. Who is sitting at a distance of 2 m
from B ?
(A) F
(B) A
(C) H
(D) E

20. Who is sitting in the south-east
direction of E ?
(A) F
(B) B
) A
(D) G
SET-A

21,

22.

Vincent is a newspaper boy, who
supplies 20 newspapers everyday
morning and he completes the job in
30 minutes. Whenever he is sick, he
asks his friend Kumar to deliver the
newspapers to all the 20 houses.

(A) Vincent has trust in Kumar.

(B) Vincent often takes leave from
his duty.

(C) The houses, where the
newspapers are given, are
located far away from one
another.

(D) Vincent does some other job
after distributing the
newspapets.

Promoting foreign languages in

schools is intended mainly to

(A) give more importance to foreign
languages than Indian
languages.

(B) give equal importance to Indian
and foreign language.

(C) give more importance to arts
compared to other subjects.

(D) make children global citizens.

In our country, a person (he/she) is

elected as the Vice President by the

members of both the houses of

Parliament. This implies that, before

the election,

(A) He/she is definitely a member of
Lok Sabha.

(B) He/she is definitely a member of
Rajya Sabha.

(C) He/she is definitely a member of
Union Cabinet.

(D) He/she is a cituzen of the

country. o 2015
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24. Today's workforce has a new set of

social values. For example, in the
past, a Deputy Collector who was
promoted as a Collector to a distant
district would have accepted the
promotion cum transfer. Today,
he/she in that same situation might
choose family happiness and may
prefer to stay back as Deputy
Collector. The statement that best
supports this paragraph is
(A) facilities such as healthcare,
education across the state are not
uniform.
(B) officers today are not loyal to
the government.
(C) government does not care about
the personal needs of officers.
(D) officers do not care about their
promotion.

Yoga has become a very popular
exercise today. But before one joins a
yoga class, he/she needs to examine
the kind of fitness routine that he/she
expects. If one is looking for a high
energy, fast-paced aerobic workout, a
yoga class might not be the best
choice. The statement that best
supports this paragraph is

(A) yoga is more popular than

aerobic exercise.
(B) yoga is not a high energy

workout.

(C) yoga is better than aerobic
exercise.

(D) exercising yoga gives high
energy.

All pens are books. Some pens are
pencils. Then,

(A) some books are pencils.

(B) some pencils are books.

(C) all books are pencils.

(D) all pens are pencils.

SET-A
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An honest king decided to give death

penalty to his minister for some

mistake. But he gave him two

options: “If you tell correctly what I

am thinking now, you will be

hanged. But if your guess is wrong,

you will be killed by throwing to

crocodiles”. The clever minister

made a statement such that the king

could not kill him. The statement

made by the minister 1s

(A) You are going to kill me.

(B) You are going to throw me to
the crocodiles.

(C) You are going to hang me.

(D) You are not going to kill me.

A is the brother of B, B is the sister

of C, C is the sister of D and D is the

brother of A. B is junior to A and

senior to C, D is junior to C. Then

the correct statement is

(A) A & D are boys, age of A > age
of D

(B) A & C are boys, age of A > age
of C

(C) B & C are girls, age of C > age
of B

(D) B & D are boys, age of B > age
of D

Sita is a twelve year old girl. For many

years, she has been asking her parents

for a pet dog. Her parents told her that

a dog would not be happy in an

apartment, but they have given her

permission to have a bird. Sita has not

yet decided what kind of bird she

would like to have. The statement that

best supports this paragraph is

(A) Sita’s parents like birds more
than dogs.

(B) Sita does not like birds.

(C) Sita stays with her parents in the
same apartment.

(D) Sita’s parents do not like to keep

pets in the apartment.
P/A/I/2018
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Directions : In each of the questions 30-35
below, there is a statement followed by two
assumptions numbered I and II. Consider
the statement and given assumptions, and
decide which of them is implicit in the
given statement.

30. Statement :  All  women’s
organizations have welcomed
the new sexual harassment law,

Assumption I : Sexual harassment
crimes were very few in the

past.
Assumption II : There is a new
awareness about sexual

harassment in the society.
(A) Assumption [ is strong.
(B) Assumption II is strong.
(C) Both the assumptions are strong.
(D) Neither assumption is strong.

31. Statement : The Speaker stressed the
need to change the present
examination system to a new
system, which would measure
the real calibre of the students.

Assumption I : Examinations should
be abolished.

Assumption II : There is need to
revamp the examination system.

(A) Assumption I is strong.

(B) Assumption II is strong.

(C) Both the assumptions are strong.

(D) Neither assumption is strong.

32. Statement : Until the country
achieves economic equality,
democracy and freedom have no
meaning.

Assumption 1 :
economic equality go hand in hand.

Assumption II : Democracy and
freedom are independent of
economic equality.

(A) Assumption I is strong.

(B) Assumption II is strong.

(C) Both the assumptions are strong.

(D) Neither assumption is strong.

SET-A
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33.

3s.

Statement Applications  of
candidates who did not fulfill all
the eligibility criteria and/or who

did not submit applications
before the last date were
summarily  rejected  before

conducting the test.

Assumption 1 : Those who were
called for the test have fulfilled
all the eligibility cntena.

Assumption II : Those who were not
called for the test have
submitted their application after
the deadline.

(A) Assumption I is strong.

(B) Assumption II is strong.

(C) Both the assumptions are strong.

(D) Neither assumption is strong.

Statement : To cultivate interest in
reading, the school has made it
compulsory this year for each
student to read two books per
week and submit a weekly
report on the books that they
read.

Assumption I : Interest in reading
can be created by force.

Assumption II : School has
succeeded in creating reading
habits among children.

(A) Assumption 1 1s strong.

(B) Assumption Il is strong.

(C) Both the assumptions are strong.

(D) Neither assumption is strong.

Statement : The old order gave way
10 new.

Assumption I : Change is the law of
nature.

Assumption II : Discard the old
ideas since they are old.

(A) Assumption I 1s strong.

(B) Assumption II is strong.

(C) Both the assumptions are strong.

(D) Neither assumption is strong.
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Frdwr: uve W 36 9 40 TF H SRS IE &
TE U HYA ¥ 3N 35 9 & 9% F, | AR
% 1l Rem & | amust foig & & f6
W AF AEE” € AN PH W AR | A
Fofe & s W, wEt fawes F1 aE W

36. W9 T & 9N o wiasfua e

3.

I ufew |
% I : 71, Fife T HR0T TR @i

3 AT e g ¥ |

% 11 : T, Wi T @ = [
S |

(A) &% [ wmEeme & |

(B) &% II wwraenett & |

(C) & 1 3% 11 51 wreremet & |

D)yFI @ aws ] AT @ aF I
Tt ¥ |

wuw . fauem IR e T== # deEt
g | V% 9T |

%] ¥ oI GG S AER ¥ |

A% 11 : 70, IF T=1 F WHEG T F
FAFAH G T |

(A) @& | uvraeet € |
(B) & II Uvraemet & |
(C) a& 1 3 11 51 uvraemet & |

Dya at @k [ 3l 3 & @ Il
waEeet ¥

P/AMI/201S
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38.

39.

YN . YRd §OR H dfemd ik
AT Sietl # @l W
U 7Ewd 3 9180 |
T& | : &, T UE e, ST R
WM H U OifET A% qEa
wreg o faet |
T I ; &, e de AoEae ¥
T, T W M R @
FEYTEAE |
(A) T [ TEe & |
(B) @& I w9t & |
(C) @& | 3T 11 <11 wmawret & |
DyF at aF 1 3w 3 & & Il
wEeTe € |

YT ;. TRET HA GHY HiAwA B F
I & wfaEtE fear s
ey |

& 1 : ¥, 7% HRO G5 gHeATE et

¥

% I1 ; 81, 9% =R | THET S |

(A) @& | wmaemet ¥ |

(B) & II mmaemett & |

(C) & 1 3R 11 T4 et & o

DAFaar [ fwad a1

WATErTe! & |

& 11 : 7 wifE o/ # o F a1
T ¥ g A AT [ A
fogemm |

(A) T | =@ ¥ |

(B) & I Tmeemet & |

(C) & [ 3 11 g1t woieremedt € |

D)F & aF 1 3w T & aF Il
WIITeAT & |
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Directions : In each of the questions 36-40
below, there is a statement followed by two
arguments numbered I and II. You have to
decide which argument is ‘strong’, and

which one is ‘weak’. Based on your

decision, choose one of the given options.

36. Statement : Fire-crackers should be
banned in India.

Argument I : Yes, because it causes

severe sound and air pollution.

Argument II : No, because many
people will become jobless.

(A) Argument [ is strong.
(B) Argument II is strong.
(C) Both the arguments are strong.

(D) Neither argument is strong.

37. Statement : School going children

should be prevented from

watching T.V.

Argument I : Yes, this is a wastage
of their time.

Argument II : No, this is the only
way to improve the general
knowledge of children.

(A) Argument I is strong.

(B) Argument II is strong.

(C) Both the arguments are strong.
(D) Neither argument is strong.

SET-A
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38. Statement : Government of India
should give equal emphasis on
opening of Medical and
Engineering Colleges.

Argument I : Yes, we need better
doctor to patient ratio for a
better healthcare.

Argument II : Yes, we need better
infrastructure for better
economy.

(A) Argument [ is strong.

(B) Argument II is strong.

(C) Both the arguments are strong.
(D) Neither argument is strong.

39. Statement : Using mobile phones
while driving should be banned.

Argument I : Yes, it causes road
accidents.

Argument II : No, it will hamper
business.

(A) Argument I is strong.

(B) Argument II is strong.

(C) Both the arguments are strong.
(D) Neither argument is strong.

40. Statement : Should India spend

more money on Scientific
Research ?

Argument I : Yes, Scientific
Research helps in advanced
technology.

Argument II : No, because India has
not got any Nobel Prize in the
recent past.

(A) Argument I is strong.

(B) Argument II is strong.

(C) Both the arguments are strong.
(D) Neither argument is strong.

P/A/TI/2015
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42.

(A)
(B)

(€)

W& o|w ere vis

(D)

g A

-{a-(a+b)-[a-(a-b-a)]}+2b
(A) O
(B) 4a
(C) 4b
(D) 3a-2b

wF AmE 60 A wfe w92 @i ofa
aa%aﬁﬁzaﬁiargmtaﬂ?
g v fE IRt feem @ s
AEATE 9 AFE ¥ INF N | Few
et & | 3 ATt @t o 250
¥, TSt @t nfr fa o, wferde g
(A) 20

(B) 30

(C) 40

(D) 50

idif:ﬂ'
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45.

47.

TS EH 3T AR TEF TH FH B 10
e o g #T gEwt € SWiE A7 o
3T 3 7ITH I W H T KA T =W
THd €1 A amEedt i A oed I
FH F w1 ¥ fHa g e 2

(A) 4.5

(B) 7.5

(©) 12

(D) 15

8. % 3R G afeenst & wF €, 5
e et ww s w5, el 3 g
3t 2 wfeed ¥, forert vR | o o
FHaT k9
(A) 150
(B) 200
(C) 900
(D) 1800

T T AT U g w oaee e
& 1 aft @ % e sk e @ S
& Iua 2/3 &, at B o Senf ok
3R T SO &

(A) 2/3

(B) 2/5

(C) 978

(D) 9/11
SET-A
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41.

42.

43.

5

-

X 3 X .
If y =3 the value of E is

7
(A) Tg
4
(B) 15
C 1
© 4
8
D) 17
Find the value of

3
5_

1+ 1
1
J+—

2+

£ f—

(A)

(B)

W oo Ol

<)

S
218 ol

Simplify :

a-{a—-(a+b)-[a-(a-b-a)]} +2b
(A) O

(B) 4a

(C) 4b

(D) 3a-2b

A man sitting in a train which is
travelling at 60 kmph (kilometers per
hour) observes that a goods train,
travelling in opposite direction, takes
9 seconds to pass him. If the goods
train is 250 metres long, then speed
of goods train in kmph is

(A) 20

(B) 30

(C) 40

(D) 50

SET-A
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45.

47.

One man and four boys can do a
piece of work in 10 days while three
men and two boys can do the same
work in 6 days. How many days two
men and three boys can take to do the

same work ?
(A) 4.5
(B) 7.5
(©) 12
(D) 15

In how many ways, a committee of 5
members comprising 3 men and 2
women can be selected from 6 men

and 5 women ?
(A) 150
(B) 200
(C) 900
(D) 1800

A square and a triangle have equal
areas. If the ratio of side of square to
height of triangle is 2/3, the ratio of

height to base of triangle is
(A) 2/3
(B) 2/5
(C) 9/8
(D) 9/11
P/A/II/2015
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48. T U Wi BTGl &1 25% T
W gd A & | 9 g e W 75% aF
BEEN AR HfaeeE & % W @Y
wr ¥ | iy 39 TN 9eR & o9 °
? 120 7= §, &t U # i smgfa
T2
(A) 640
(B) 850
(C) 1000
(D) 1260

49. T foret T o1 faoeht @1 faer arfers
¥y @ Fvifea ¥ s riferes w1 @ faorett
® g H HE % SFER awer v |
W TF A J 560 g w1 I gen
at faet T 2,400 31 | UF g AR @
620 g2t & 39w g at fae T 2,640
F | wE A AR F 500 gfe w
QA g A 39 WEA w5 faer o
(A) T 1,660
(B) ¥ 1,860
(C) 22,160
(D) 22,260

50. uw o fawe aie I9% TANe @
AT & I 9 &
(A) 4
(B) 16
(C) 64
(D) 128

P/A/TI/2015
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i : v 51 @ 52 W1 I 3 & few AR
faa ar fem 3iv Aferen & sngga &
Tt BF WEH & 2RM, 31 faewswt (A AR B)
AN & T @ W e, o fam | fyavor
yiAye & &9 o T & | &= e # @
F T&AT 1500 |

BT WA F FW FA A A H B &
T A T R HAE I, A §
framr T & |

I

" A (A : B)
E 8:7
wE 1:2
e 3:2
s 7:5
% 7:8
A 7:9

51, A B §RT SEd | A€ w3 Iw
3 @ T PN W G W OHE:
T w7
(A) 116:135
(B) 119: 145
(C) 116: 145
(D) 119:135

52. 3 FEA A ZRT WE W 25% W g W
A M, A T R A S A @ fan
g2 & A9 T FRI F A R
(A) 21
(B) 63
(C) 84
(D) 105

SET-A
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48. Rohan spends 25% of his monthly
on books. Out of
the balance amount he spends 75%
on the hostel and college fees. If he
lefts with ¥ 120 at the end of a
month, what is Rohan’s monthly

scholarship

scholarship ?
(A) 640
(B) 850
(C) 1000
(D) 1260

49. The electricity bill of a certain
establishment is partly fixed and
partly varies as the number of units
of electricity consumed. When in a

certain month 560 units are
consumed, the bill is T 2,400, In
another month 620 units are

consumed and the bill is ¥ 2,640. In
yet another month 500 units. The bill
for that month would be

(A) T1,660
(B) T 1,860
(C) ¥2,160
(D) ¥ 2,260

§0. The number whose square root is
twice of its cube root is

(A) 4

(B) 16
(C) 64
(D) 128

SET-A
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Directions : Study the following pie-chart
and table carefully to answer the questions
51 & 52 given below :

Pie-chart shows  percentage  wise
distribution of the number of cars sold by
two distributors (A and B) together during
first six months. Total number of cars sold
is 1500.

Table shows the respective ratio between
the number of cars sold of company A and
company B during six months.

Month
January
February 1:2
March 3:2
April 7:5

7:8

7:9

May
June

§1. What is the respective ratio between
the number of cars sold of company
B during January and those sold
during June of the same company ?
(A) 116:135
(B) 119:145
(C) 116: 145
(D) 119:135

52. If 25% of the cars sold by company
A during May were sold at a
discount, the number of cars of
company A during that month were
sold without a discount is
(A) 21
(B) 63
(C) 84
(D) 105

P/AMI/2015
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53. wF % & awht wemr pQ” B, fand
W W A 1] AW ¥ g gE &
31 F IA-TGE T TF A5 GEAT
“QP” ®t & W wEwAT ¥ ) “PQ” §
“QP” W HZH ¥ 9 37w & | qo HEA
"PQ"'B'

(A) 83
(B) 47
(C) 74
(D) 65

54. 31 OF e SR qx # g @ A
T | 7H A, e o 3w ag
| 3 TF W ACT | W G & A
3 faam it g W % B IR, §F 9
TOG TF i AT w0
(A) 30
(B) 45
(C) 60
(D) 75

55. a1 @ ¥ T S00 ® 10% A g
T | UF WE AR A9 10% U T |
9% 9% T H 39 &

(A) T 500
(B) T 495
(C) T505
(D) #i% 8

56. FAX A THE® AT W/ 30% WO
W, 20% faorett o i 9w 319 =1 70%
THH R W wd e & o oo
T AR, IEF U T 300 FER ¥ |
FUR F 792 # afew smg &

(A) T 2,000
(B) % 3,000
(C) 2,500
(D) 23,500
P/A/MIN2015
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frder ;. Fifee fag o wrwrstt &1 9@ %
FHFwg 150 AfFal & Tgngur w i
& | 3 e U7 faeR B U 9@ 57 9

59 % IT AT
60 1 g :
50 4 -
R —
% 30
Em 15 LR
0 4 - E4 Z
= Z 5
. L . %
12 3 4 5 6
Wt vraTat #1 e

57.

58.

59,

F9 W FH 3 YA F T=A G Hraaar
F TETE

(A) 50 (B) 55

(C) 80 (D) 120
ST 4 wTWIeT 1 T At st
H T

(A) 15 (B) 30

(C) 105 (D) 135

FA W T G 9ed H® OAEA T
gt F q@n v afvwan 3 amet
F T et SR @ S S b
(A) 27/14 (B) 11/30
(C) 7/8 (D) 3/10

T H UG T 200 ¥ FW T ¥ o
1 vy @A & | a7 feEr W OE e
g T ¥9 F1 3T e v ey faat
&I 2A! WAl & G 9F 6 I§F @9 | vy
T T IFH AN GRS INTST T F
FET 6T & I |

e 3 # g @ v =, anfaed
# T1 M w1 @ fawfaa s w smt
qTR | -
(A) 2
(C) 4

(B) 8
(D) 16

SET-A
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53. A number consists of two digits,
“PQ”, whose sum is equal to 11. A
new number, “QP" can be generated
by interchanging the digits of the
original number. On subtracting
“QP” from “PQ” we get 9. The
original number “PQ" is
(A) 83
(B) 47
(C) 74
(D) 65

84. A father is thrice as old as his son
today. Ten years later, father will be
twice as old as his son. What will be
the age of the son when his age will
be 3/4™ of his father's age ?

(A) 30
(B) 45
(C) 60
(D) 75

58, Anuyj salary increases from T 500 by
10% and a month later gets decreased
by 10%. After this, his salary, in %,
will be
(A) 500
(B) 495
(C) 505
(D) None of the above

§6. Kumar spends 30% of his monthly
income on food, 20% on electricity
bill and 70% of the remaining
income on house rent. After all these
expenses, he has T 300 left with him.
Kumar’s monthly income, in ¥, is
(A) 2,000
(B) 3,000
(C) 2,500
(D) 3,500

SET-A
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Directions : Consider the following data
on the number of Languages known by
people in a sample size of 150. Based on
this data, answer questions 57-59.

i

{ -

-

[ T
0 % B .%_m_ _
% 5

0 A
l 2 3 4 5 6

Number of Languages Known

Number of Persons
el

57. The number of persons who know at
least 3 languages 1s
(A) 30
(C) 80

(B) 55
(D) 120

58. The number of persons who know
atmost 4 languages

(A) 15
(C) 105

(B) 30
(D) 135

59, The fraction of the number of
persons knowing at least two
languages to the number of persons
knowing atmost two languages is

(A) 27114 (B) 11/30
() 718 (D) 3/10

60. Vandana has less than ¥ 200 and
decides to give half of the amount to
her friend. She continues to give half
of the money she has in her hand at
any point of time to her other friends
during this process till she has a
balance in her hand, which is equal to
the first two digit prime number. The
amount given by Vandana to her first
friend divided by the amount given to
her last friend is equal to
(A) 2 (B) 8
(C) 4 (D) 16

P/A/MI/2015
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v . (v d@ 61 F 65) FA=fetEn weaw
T &% foiw v g R @ ¥ ) fRw o
fawem 0 ¥ 7 v Al S g S
TeoEtya ded o v & gaifus e

61.

AT - qHe ¥ uifgd g wfeen @i

frdt 7 o TErEA A€ #1, Wi A

I0% Wid THAZAT 3R el B -

(A) ATTET FHEAT

(B) I ® WHHA AN ITH WrEST
T WTHT HTA HY &HAT

(C) TR agmes wfEawgat |

(D) et =t gdg w0

62. 3P fAamt - AR SEateE ATE @
o At fRafaal &1 g WY -
(A) STl g8
(B) 3@y wardt
(C) vy w9 1 e 4 T ae+ o
(D) & aA
63. FIN FHAW) : GEHEN 7 72 fayw aret
W H3N Hraam H fAorg v -
(A) 3FHfA &
(B) =X
(C) &M
(D) T4t & favg HE UG
T Jeeia @0 ® Afvgfeaa gan ¥ -
(A) FFTTE |
(B) A |
(C) WY |
(D) FIHEIHS |
65. #forE . 3T F A B g6 F BRI,
T T W ETst F aforw g @
9 —
(A) T (B) 3=
(C) IHaHRR (D) TR & feu
P/A/TL/2015
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e (W 66 | 70 7%)  FAfetEd
@Y F 9ge IWF A9 o =1 7Y ey &
I LA | v & ST eEr oamnia
g1 areu
Ha W o fera wifva 3w

W & a9 G99 g &, A wiEas w9
WYRUE: YR & 99 &d] £, 669 o
HIPEAT  MURUE:  SETES & ST F,
faviva. ity #ifeed yRR & ary SfEd
T ® FFdl | 39 W @ ouw guittad
YETE I8 ¥ T HET HIET F CH @
HEFIS & €9 F G A GHAT £ A IR
% fotu amvae nfa |, v a5 | gAemRA
H WS W T | AVF A ° HEC
HITeTHT AT & Y & T2 & e ¥, W
g W € g % st g 991 3 W
i qot ¥ 8 @ 761 fmar | FET wiferre
% WMt &9 % & ¥ UF QI e 98 ¥
o — ax awa g € ol v faumpet w@
Twia gt ¥ H U dm E, e | T
T8 g ¥ 3% 39 v % e s feg
e ¥ - 1 Fr wifeed wWR & fee
ST e ¥ e 3 9 qReceA Fdr
¥ | e o, Tawmuws 39 sfEd w9 9
BT TfeT % 30 Amet ¥ Wil a9 st
% TG, SV & 96 9 NG FH W
il
66. Fur wfymed w@ndt wd £ 39 faawmn

% fawsg 7 9= gt (smafea) € 9

(A) &7 HiteE faFa g & |

(B) wmug. #uv o fEwep 9

THiEd B ¥
(C) G UF ITURT T |
(D) IogF o |

67. & Y 9 TIq FIERIA AT I &
g9 W99 g@W & @ wHhas G9ad
(A) oI (B) wHiToamaf
(C) &8+t F8 (D) =At
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Directions (Q. Nos. 61-65) : For each of
the following words below, a context 1s
provided. From the given alternatives, pick
the word or phrase that is closest in
meaning in the given context.

61. Empathy: No one helped the old lady
who had an accident, because they
felt no empathy towards her.

(A) Dislike

(B) Ability to understand and share
the feelings of others

(C) To hate someone because the
person is old

(D) To like someone

62. Squatters: The Municipal
Corporation is clearing the ground of
all squatters.

(A) Wild plants

(B) Illegal immigrants

(C) Person occupying a
illegally

(D) Hawkers

space

63. Crack down: The government has
decided to crack down on large
billboards.

(A) Allow

(B) Tax

(C) Remove

(D) Take severe measures against

64. Appreciated: The price of gold has

appreciated significantly in the last
few months.
(A) Increased
(B) Approved
(C) Decreased
(D) Praised

65. Fleeting: We got a fleeting glimpse
of mountains in the distance as the

train speed along.

(A) Clear (B) Unclear

(C) Brnight (D) Momentary
SET-A
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Directions (Q. Nos. 66-70) : Read the
following excerpt and answer the questions
asked at the end. The answer to the
questions should be based on the excerpt.

When there is a conflict between
cells and the body they reside in, natural
selection usually favours the body, which
can usually discipline the errant cells,
especially because the cells don’t have a
life of their own outside the body. A well-
known exception to this principle is that of
cancer cells, which can be thought of as
selfish cells attempting to reproduce faster
than is good for the health of the whole
body. In the end, of course, the cancer cells
perish with the individual, but that does not
explain why natural selection has not
eliminated cancer all together. A common
objection to the interpretation of cancer
cells as selfish is that they are abnormal
and perhaps infected with a virus, that
cancer is a disease, and so on. All this is
true and pertinent to the proximate answer
to the question of why cancer cells
reproduce faster than is good for the body.
But the ultimate, evolutionary answer must
be that natural selection in this case is
acting in favour of the cell rather than the
individual.

66. What is the common objection(s) to
the interpretation that cancer cells are
selfish ? .

(A) Cancer cells are abnormal.

(B) Cancer cells are perhaps infected
with a virus.

(C) Cancer is a disease.

(D) All of the above.

67. When there is a conflict between
cells and the body they reside in,
natural selection usually favours

(A) The body (B) The cells
(C) Neither (D) Both
P/AMI/2015
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68. T fTHHARE IW G w9 ¥ AT
afey f& Fav wfymst & omet o
W T4 39 81 § FTH HT @ E -
(A) IR
(B) wIfvrnIay
(C) g+t 7

(D) ==

69. FuT FyrFA F @E ¥ OH G S
qFAT § I -

(A) 3 0 YRR & W & U
snwe afe @ sfuw ast @
TAEET HAl €

(B) Wi 9= gk Ue ° I € |

(C) F&R U qWRI ¥ |

(D) HT TH HEE E |

70.  FWT e & fova & g faw
&1 3ETE &, e IEn -
(A) 7@ R ° fem wifwe 3w
YRIT ¥ WO g7 g, 9t Wi a1
TTYRUTE; HITHTT FT WK E |
(B) @ Wi § fom st dv
IRIT o Hed gl &, grpfe a9w
TR Y & TRI4T 81T & |
(C) 79 WRR ® fem wifwewed 3w
YRR | 9y g &, a1 Wit 99
FT TRV ¥ sjfaeer &t e |
(D) 5@ WX ¥ fea wifeera ek
YRR | T & €, A wHias 99
TYRUE; FHT &1 9 o € |
P/A/TL/2015
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fRw . g d 71 /75 79 ;. Foafefaa
G F U 39% I 0 53 T uwEt
IW AT | 9 F I e Wi ge
e
RE F T qE W FE A AR
¥ SETE = E 1 TR a3
AEEHAA F T & v Faer 77w i
T WA, W AT FW WYE *F Jfsarst
U e % T ¢ @ 7 /R
¥ | 399 Q@ & 9 B ANNE Gay @
B & 3T UHg |/ o o ¥ fw
YaT IO WieAdt 319 & Hantagt Hi W 7@
goEr, qafy v §10 e § | d@Aw §9
¥ T oY TYAYT B & aEeE, T 9§
TOF O WHE GEAE # s wt
FEVEFHAS T T FIAT € | FE G WO
Iiyor ® FE YA W I E o

71. TR F3, Tot twe AT THEH F
# IR R F3 g aenfadt ik
Aferdt Wit ¥ -

(A) WRE =1 e oy |

(B) AN Ft & Fanfwai &
(C) FaoA UT 3THH F Em
(D) ¥ fAfed 3fza= & 3 &

72. fofest sigam & i, w4 dfeAe §q
F THY g9 F FESE IR W A8
quTE | g% i T & 9w
(A) TR ¥ F 3 377 Aege & |
(B) 7y d & ¥ |
(C) TH-T& T FEAT-qEAT € |
(D) TF-3ET F T N T6y @R

T
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68. The ultimate evolutionary answer
must be that in the case of cancer
cells, natural selection is acting in
favour of

(A) The body
(B) The cells
(C) Neither
(D) Both

69. Cancer cells are thought of as selfish
because

(A) They reproduce faster than is
good for the health of the whole
body.

(B) Natural selection favours it.
(C) Cancer is a disease.

(D) Cancer is an exception.

70. The case of cancer cells is an
exception to the usual norm, namely,

that

(A) When there is a conflict between
cells and the body they reside in,
natural selection usually favours
the cells.

(B) When there is a conflict between
cells and the body they reside in,
natural selection usually favours
the body.

(C) When there is a conflict between
cells and the body they reside in,
natural selection usually plays
no role.

(D) When there 1s a conflict between
cells and the body they reside in,

natural selection usually favours
both.

SET-A
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Directions (Q. Nos. 71-75) : Read the
following excerpt and answer the questions
asked at the end. The answer to the
questions should be based on the excerpt.

Many tribes and castes on the
mainland of India live by hunting, fishing
or gathering. But they do not depend upon
these exclusively for satisfying their needs.
The aboriginal inhabitants of the Andaman
islands, however, depend upon these
entirely for their livelihood. They have no
trade relations with others; and are so much
isolated from one another that the Onge of
Little Andaman do not understand the
language of the Jarawa of the Great
Andaman or of the inhabitants of the North
Sentinel Island, all of which are close-by.
Each of these groups satisfies all its needs
completely with the help of local resources
and exercises considerable ingenuity in
maintaining themselves on these islands,
although technologically they are very
poorly equipped.

71. The tribes and castes that depend
exclusively on hunting, fishing and
gathering are
(A) of the mainland of India.

(B) the inhabitants of Andaman
islands.

(C) only the Jarawas of the Greater
Andaman.

(D) only the Onge of Little
Andaman.

72. The Onge of Little Andaman do not
understand that language of the
inhabitants of the North Sentinel
[sland though the islands are close-by
indicates that they
(A) are  technologically

equipped.
(B) are living in the mainland.
(C) are isolated from one another.
(D) have trade relations with one
another.

poorly
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73.

74.

75.

76.

s o ffea & fe wra & q= 9f &

qEA-GT St T AfeEr -

(A) S FT IMITIFAA F UK &
AT ® G0 FA E

(B) @R %13, e yFEH R H9gA
HFE‘IT‘IUII'FT%‘N?I

(C) 3¥=HM gl & anfgal # g §
F9 AEAVEHATE TGt & |

(D) U 3GH AaA Al & ites 37
sTavasant fon feet ware & qof
BT €

3 Ft & Snfgardr smfa s
A, O g SEAvEEAS Y
Tt i gEEET ¥ Q@ H § i
(A) & T sratoran &1 W 3 & |
(B) & T €T ¥ 307 WYTGH £ |
(C) o€ U-gaY $ urer Tef qoem |
(D) 39wt

I e g w1 et
(A) SRE 1 q&H 40T

(B) fofes stzmam

(C) U< iz

(D) 3THM F1T THE

AT 3T W A W W ¥ AR U ant

T IR W G g1 @ ¢ T =

TEaE U B @ & | 39 T BT 7

(A) 9 Wi g9 aet gt ¥ 9
T ITPH WA FY T F AU
FE |

(B) 93 FA1 § FH & & A A |

(C) 2 3R At / ey, @rila s
Tt A @ fred a3

(D) 39Y 31U FT THIIRT T Bt TN
H TR S |
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77.

78.

79.

v qfem et & 3w

SR &7 7 v w7 T & R

| U U W ¥ | AR AT @@l

WA HT B F81 T § AfwT o

FH W ST U6 FFgEn 01 g+ #

YT & | ST T H 2

(A) YfeaeEal #t UF TR H 0d |/
U=y T HA SR F4T

(B) g wiffie Jamatt ®t AR A
T FT T HIT |

(C) T& ZW a7 | maRe @ Hiere
FT |

(D) WG a3t H TET F gEe &
Al ¥ e feemm @R I
qEraen ¥ af=T H WEAkd w41 |

S TH TEANT @S TR FR

et & | o e aw e ferra @t

t 5 v @ owmEm 3 W W

HONTFAE fCut FY | 31T FT F 2

A T FIfrIamar s
FE A, a% g gF femuit & &
et

(B) IR Ft i fewforal =t 3w it
AN TR FHAFTNE |

(C) 39H 99 ¥ F1F ¥ HAH A |

(D) 39H 39 AW & Ifua WHER!
= fqiE w3 & T 3 |

I TF AfeHd R ¥ | B A0

grg 3T & 3R faor fafeers &t ol &

sty ag w& HT G € fF aE afa

Evas ¢ | I 3 fefa #@ o

T 2

(A) UEF &t fa 23 |

(B) fam1 fafscus &t o=f & afufy 33
q T F AT

(C) 3iwfy #t Fet Higa W T |

(D) W fafrms AR Waa & &
fow w5 |
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73.

74.

75.

76.

The passage implies that many tribes

and castes on mainland of India

(A) satisfy some of their needs
through trade.

(B) depend exclusively on hunting,
fishing and gathering.

(C) have lesser needs than those in
Andaman islands.

(D) live an easy life since all their
needs are fulfilled without any
effort.

The aboriginal inhabitants of the

Andaman islands, namely, Jarawas

and Onge, satisfy all their needs with

the help of local resources because

(A) they exercise considerable
ingenuity.

(B) they are technologically poorly
equipped.

(C) they do not understand the
languages of each other.

(D) all of the above.

North Sentinel Island is part of
(A) mainland of India

(B) Little Andaman

(C) Great Andaman

(D) Andaman Islands

You are travelling by train and one of

the passengers is playing music very

loudly - disturbing all co-passengers.

What do you do ?

(A) Talk to the person who is
playing the music and convince
him to reduce the volume.

(B) Put ear plugs in your ears.

(C) Along  with two  other
passengers, beat up the person
who is playing the music.

(D) Request him to play a few of
your favourite songs.
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77.

78.

79.

You are a police officer and in your
jurisdiction there is a temple
obstructing the construction of a
highway. You have been asked to
relocate the temple but there is a risk
of disturbance to law and order if this
is done. What do you do ?

(A) Order a platoon of policemen to
demolish the temple at night.

(B) Do nothing for fear of offending
the local religious leaders.

(C) Try to get a transfer to another
police station.

(D) Convince the local religious
leaders of the importance of the
highway and with their help
relocate the temple.

One of your colleagues wears skirts

to office. One day she complains to

you that another colleague passed
some derogatory comments about
her. What do you do ?

(A) Tell her that since she dressed in
this way, she deserves the
comments she heard.

(B) Tell her to ignore the comments
and continue with her work.

(C) Make fun of her in the tea club.

(D) Advise her to report the matter
to appropriate authorities.
https://'www.pygonline.com

You are running a medical store.

Someone comes and asks for a

medicine without prescription, and

says that it is urgent. How do you
handle this situation ?

(A) Give the medicine to
customer.

(B) Refuse to give the medicine
without a prescription.

(C) Sell the medicine at a higher
cost.

(D) Ask to speak to the doctor on the
phone.

the
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80. fZam ¥ favw o= 3 fam w

81.

82.

I Wt H1 AraH o & ) e v

T 10,30 g9 HOY enIeEiE @

T 1 F FEATE | 3T T HLT 2

(A) TEI B TGS A B oFen
it fearedt a9 9 %ae 0F G}
AT

(B) o o=t & |, T2 ® 9o &
yge! 37 &, afs 9 9o 98 § el
& AT

(C) eIEe@E & o= ¢ a1 3%
TZIET |/ srfar & fow e wem |

(D) 39 999 @ T HT 0, wAfeA
TErd & I % a5 6T @ 9] #
cull

YT Ted1 °T SHT IO & T 3TH

AT AT ITH G & 1 3

1 H4 2

(A) 3@F I § e HAGE d 9
FOT |

(B) Y @Wd WHENS Aigs § a6

(C) 3w a7 F quan frE ® e
FH F FE |

(D) T O fyen @t 365 Fle T
F1 HE ST |

gEEm favms w1 foem & foav o o

FAT € | AH HAX H AT F=T T,

R | EEEn ey e fow f

HIT =1 FH 9

(A) &= faves & 39 a1 § e
@R F FE |

(B) 311 I Fi WAt w3 et
form e fer ifem o =t s

(C) ¥t it # weitenn &t 3R gad
Hifen st mgr & foe gae 3

(D) HAR F 3107 3 A A B FA
fF s wew S ¢ witE S
TG 3% HOF | &7 GoadE € |
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83.

8S.

auEw wF fEF e FEew ¥
suteata @ gg o uEa ¥ 1 s
fom 3Tt o O |, S U TR R
¢ | FF IOY Y & # e
A9 9 F A B 39 FHOER feew
& | Y T HA 9
(A) @ ¥ ¥ fowfer w0t &
s firm )t ger o 2 2
(B) 3 o &t 3o wrd & O 9@
FA B B |
(C) 319 forx =t wrrlt fe aw ot ¥
(D) 37 fag it 1 T T F WG
A A A S g wwoE FA |

ATF FEEY | UF IR HHAR ¥

3R g e TA ¥ BF AW dERR

3qet 3fae worgdt AE F W@k | A

F 2

(A) $9 78, dfe 49 IR ToaH
T TD TEY @A TN |

(B) 3R FHAR! ¥ F9 FHEW T WA
T F HEN 3T 9 TW W A T
Fq ¥, A IOW o el
ferraa, sfaa wiverdt & e |
qEE |

(C) 38 T, =% TF S TN
TEE

(D) T2 7, wite 9 favam wa ¥
fe om wFE & g wefad
TAERAT g S ¥ |

s a3, smuwl I gfEe ¥ A

F T 33 F FEAT & AP 3T WA B

T F= 4 TEEgen et | 3 491 H4 2

(A) 75 @ I ST S T |

(B) 4fg & 3ol 8 WX Uit & &i Tl
& S &, ° SHE HEAar Hav |

(C) 3197 A& F5 I qEF FY BT
T |

(D) 319 fix &t augmgn fF T =
T & 3R 3 3me fow oel
Ul
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80.

81.

82.

For Diwali celebration you have
arranged for a dance party in your
apartment. At 10:30 one of your
neighbours requests you to switch-off
the speakers. What do you do ?

(A) Ask the neighbour to adjust
because Diwali comes only once
in a year.

(B) Along with your friends,
threaten to beat up the neighbour
if he doesn't leave immediately.

(C) Switch-off the loudspeakers and
apologise to the neighbour for
the inconvenience.

(D) Switch it off then, but turn it on
again after the neighbour leaves.

Your child comes home and tells you

that their substitute teacher hits them.

What do you do ?

(A) Talk to the class teacher about
this.

(B) Talk to the substitute teacher
yourself and threaten her.

(C) Tell your child to quietly put up
with the beating.

(D) Collect the other parents and
gherao the Principal.

There is a long queue to see a
cardiologist. You are number 10 in
queue, but you have an important
meeting to attend. The cardiologist is
your friend. What do you do ?

(A) Ask the cardiologist to see you
ahead of your tumn.

(B) Wait for your turn and not go for
the meeting without informing
anyone.

(C) Wait for your turn and inform
the others to postpone the
meeting.

(D) Ask people ahead of you in the
queue to let you go first because
your time is more valuable than
theirs.
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83.

85.

One of your friends wants to take

leave of absence from his office. For

this he needs a false medical

certificate from your brother who is a

medical doctor. He requests you to

talk to your brother and get him the

certificate. What do you do ?

(A) Recommend to your brother to
give your friend a false certificate.

(B) Tell your friend to talk to your
brother directly.

(C) Tell your friend that this is
wrong.

(D) Send your friend to another
doctor who  gives false
certificates for money.

You have a temporary employee in

your office, and he tells you that the

labour contractor has not been paying

him proper wages. What do you do ?

(A) Nothing, since the labour
contractor is politically well
connected.

(B) Tell the employee to request the
labour contractor and if he still
refuses, offer to help him write a
formal complaint to appropriate
authorities. '

(C) Nothing, since this i1s not your
problem.

(D) Nothing, since you believe that
the wages suggested by labour
laws are very high.

Your friend asks you to help him pass

an exam by letting him copy from

your answer sheet. What do you do ?

(A) Stop talking to the friend.

(B) Help him if he agrees to give
you a party if he passes.

(C) Try to get your examination
centre changed.

(D) Explain to your friend that it 1s
wrong to copy and you will not
agree to it.

P/A/TL/2015

https://www.pygonline.com


https://www.pyqonline.com/

86.

87.

89.

T T F 3@, 7% e IuE &

T I A T TR T
(A) T3 aras

(B) Freez sraw

(C) v ara®

(D) ¥ ara®

Tt I gfe ¥ wE wes T Hifw
(A) FoTeet
(B) A8t
(C) o=
(D) 351

T T AR @
(A) @& gy

(B) &= dfy

(C) fawt wfy

(D) ¥ | Hig T8t

Priferer & firp T &
(A) Vst

(B) &

(C) 3T

(D) Wit
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frdwr : ue g 91 ¥ 95 ¥ TR el
AT ¥ IR G AT | W¥El & I HEA
few o e w1 € e AR e

2V & I F AU g A A
H WA {ET & | ARAG T, 9 S A
QI § T & Wit & | 7 & wRaa
e § 3 woqot aRe I IR | IR W
Ita T @ &y fefy sk ¥ 1 e
* @Y O W A HPl WK H FEea g
TEARR F TR OO & | I O YA F 9IS
wiaee sdeE vt § € aqdt € v s
A & - ‘9Rd 1 §5g @ ° g9@ar ¥ | fEt
H IAE G & THE F I € gER & | iE
o & Qa1 i ofem & s e ad € v
3 TRA B IR TR H I T A€ A
Tt # I=E ) R e € 3@ amea
1 w1t v=ta & e & | Tl ghmee
4 A R MHETEE A wiaar § de #
%1 & o vRaay # g e TEr g €

91, wReE wH faHae et € 2
(A) TUT & WA T & |
(B) WA % WA THa F |
(C) WRE & U e T W & |
(D) 39 o | FiE T |

92. ViR ® 9 9 Vi & TR w9 @ € 2
(A) @ TR T & |
(B) 19 #M @ B |
(C) & e T & |
(D) v= &%t w T 8 |

93, Al = a saE T E 2
(A) 3 & weltw
(B) 3ncAfadt &1 3aaw
(C) ¥ar 3k ufem &1 AR
(D) 37w & @ = 7
SET-A
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94. WRA F I ey AL &
(A) TEAT ® I W |
(B) & & 3= o |
(C) Fat &t I 9T |
(D) wTEl F1 3IHE T

95, ‘T T AR
(A) Wt + =
(B) wmr -~ A
(C) wm= - fa
(D) wiH + FHfa

forder : v 9= 96 9 100 F I F=ifea
HETROT F YR W &0 :

e 39aT Ht TS Fia ¢ | e o
% fon ¥ 3k o S ot Teer ¥ 0 R @
g ¥ - JeuEq fdt 0w osEe W/
frem B At & 37 BE A Fon ¥ famR
Ieerraqur forTt St S W 7 AT FN UH qgA
& AR Fen & | 39S few T fedt Ao w
HETEFAT & A T T WA P | TE Fon &
— Tl % T S, Fae o fog ol ) o
¥ el % fore fdet o eomt Rt gt &6t oft
B S AR S e | aA R
FHE & WX ER G St | vE @ feafa ®
R S ARy wEemom SR e Aew %
TR T & 9 & 9 |

96. ‘HIE VA & WA Hia’ H Al ¥
(A) Tue gftrat & o= @t waifus
v ST |
(B) Tuw wftrat § BT W AR GET
TAE |
(C) &t = U & T & S T ¥ |
(D) W% gfe & v wdae

29

97. us few weR # feit s oag wen
¥o
(A) Frar ot
(B) gt fvgt
(C) W2 R} Forgit
(D) Seerayet ot

98. SHaw I # Bt A X
(A) wfafes gt amEr &
(B) weit-selt agEn & |
(C) % FEr, ITAR 930 |
(D) & & forw S, &Faw oA foo
Ei il

99, ZEA ¥ forw i =y E
(A) TaR forrft et = oft & swit |
(B) T ¥R @R HTH & |
(C) 3% ¥ ER et Imet |
(D) ST &t |
100. R 7o TEiY % waifuw Iuge v €
T X
(A) e = ahT |
(B) “faq - wF auw
(C) iaT s =t wer
(D) a= 3 fvaw
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